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N R
ERIT FeES(N)  BIAELLCR [REESUE) ATALL (D) | RIAEG) ISR
JAL-JTAH L—F&F 567,704 136.1| 774883 113.8 73.3 61.3
R JAL 286,443 1406| 336,205 104.3 85.2 63.2
JTA 239,577 140.1 372,570 124.3 64.3 57.0)
RAG 37,764 929 60,300 108.6 62.6 73.3
JAC 3,020 231.3 5,808 198.4 67.5 57.9
. RE
B B BT emy wRiw [ERRR EEw | IREn  AEARE®
FIE=FE JAL/JTA 238,114 1464 272835 108.1 873 64.4
FR=5 JAL 42,030 1188 52,774 87.1 79.6 58.4
R PR = AR =R JAL/JTA 23,302 1905 30,690 128.3 759 51.1
taff = ARER JTA 50,690 1494 71,445 139.7 70.9 66.3
FE=ARIE JAL/JTA 15,649 127.4 23,592 101.5 66.3 52.8
FH=F% JAL/JTA 8212 136.0 11,754 104.7 69.9 53.8
ME=H1E JTA 5,925 162.4 10,230 100.0 579 35.7
M= JTA 1,619 1073 2,970 112.5 54.5 57.2
pE=HIE JTA 1,466 107.2 2,970 112.5 49.4 51.8
PH==d JTA 1,216 86.0 2970 112.5 409 53.6
= FNEH JTA 28,393 168.2 40,920 118.7 69.3 48.9
B =7k JTA 8375 185.5 10,230 1292 81.9 57.0]
M =FRER JTA 7,218 169.4 9,900 136.4 729 58.7
FHF=1FXS JAG 949 88.6 1,440 84.7 65.9 63.0
FE=5 RAG/JAG 3,007 149.0 4,440 143.2 69.8 67.0
A =5k B2 JAG 1,791 105.7 2928 100.0 61.2 57.9
s 438,006 1456| 552,088 110.8 79.3 60.4
MB=T JTA/RAG 49,955 115.1 84,575 124.8 59.1 64.0]
AEF=HIE JTA/RAGC 39,741 118.4 72,830 120.3 54.6 55.4
MFE=AXES JTA/RAC 18,185 105.6 29,540 119.5 61.6 69.7
MBE=mAE RAGC 2,934 8838 4,450 94.7 65.9 70.3
MEFB=dtAE RAG 1,198 84.7 1,650 100.0 726 85.8
&= SHE RAG 2,543 116.7 4,250 137.1 59.8 70.3
EH=%2RH RAC 3511 101.7 5,850 112.5 60.0 66.4
BAE=I1IXE RAG 1,028 84.3 1,500 96.8 68.5 78.7
RIE=55E RAG 5,764 96.3 8,250 108.6 69.9 78.3
HEh=5h1E RAG 4,839 1252 9,900 196.0 48.9 76.5
EARE 129,698 1122 222,795 122.5 582 63.6
FE HABRAR S 8T 567,704 136.3] 774,383 113.9 733 61.2
T E HER iR S &t 0 0.0 0 0.0 - 86.7
EBRRSE 567,704 136.1 774,883 113.8 733 61.3
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e =7%EF JTA 174 189.9
falf = AR R JTA 409 135.1
FH=R”IE JAL/JTA 182 103.4
FHE=E% JAL/JTA 119 101.6
EE=0iE JTA 68 1285
EE==0 JTA 5 -
pE=H18 JTA 2 -
PEl==1 JTA 2 -
I = AR ER JTA 223 112.7
L =7AR 88 JTA 33 127.8
A\ =FRER JTA 55 1038.8
i =51K RAG/JAG 2 171.3
12 51 & 1,243 127.7
EE==0 JTA/RAG 742 115.8
EF=HiE JTA/RAC 555 112.4
RFE=2%5 JTA/RAG 156 96.9
AFE=mAE RAC 28 91.5
MFE=ALXE RAG 13 100.9
AEE=53E RAC 16 59.7
Eo=%RMH RAC 34 123.1
mAAR=IXE RAC 8 92.5
RiE=57E RAC 57 99.5
mE=hHIE RAG 32 169.3
2 P4RET 1,640 111.0
et 2,883 117.7
FEHEIRSE 0 -
FRIREE 2883 117.7
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